Efficiency vs P,

~ 0.8

o
~
T

ermciency vs p
TTTT

0.5
04F -
0.3

0.2

0.1

—_—
5 ..—ﬁ—i....
o
. —
e
[
——
il
par TN

Ratio

0.95

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable
—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable2

= 05
4
2 0.45
0.4
£0.35
0.3
0.25
0.2

iclency

et

o
©
C

0.15 . | R
0.1 e
0.05f R A
o;.\,O:""'""""'i"""""""
g% :
o [
1__... Er Y A s s-4 4 .84 .....
%3

-2 -1 0 1 2 3

Efficiency vs ¢

o 0.5F T X T T
0 E: 5 5 5 5
=.045E : : : :
2 E: : : : :
o 0'45— : : : :
o F : : :
£ 0.35F : : : :
@ E: : : :
0.3k : : : :
0.25F S RSttt MRS
0.2F Rl A LI
0.15fF IR R S SRRt
0.05E - 413+ F-TFHL 4 ++ 1l
oFLl: I ]
o L'W-; - H
T " ]
o L.
e hen 4 : i
0¥ T 0 12 3




	Contents
	Page 1


